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s P is principal amount
ate of interest
ie time duration

1pound Interest
nterest of the previous years are added to the
ncipal for the calculation of the compound interest.
< R

l= P[”To’é} -p
‘Where P s principal amount

R is Rate of interest
T is time duration

$e1: When interest is compounded annually then

se ’3: When interest is compounded quarterly

- 4T

=114 E/f}_

o L 100
e 4: When differential rate of interest is chargedi.e.

ate of interest is

R, % for first year,

R,% for second year and
| BS% for third year then

AmcuntzP[HBL}x[HR_Z 1o
100 100 100

Qalna

;'S‘i‘mp!e Interest & Compound Ehtereﬁ%st

Solved Examples: 1

Example 1.
A sum of 12000 Rs. is deposited into SBI Bank for
3 years. If the bank is providing 5% rate then
calculate the amount after the maturity period.
Solution:

o= RT
100
s|=lW:RS,1goo
100

Amount = Principal + SI
13800 = 12000 + 1800

Example 2.
An amount become double in 8 years calculate the
rate of interest.
Solution:
Let the amount be Rs. x
Since it become double in 8 years so Sl in 8 years

= Rs. x
Now g PXBxT -~ xxRx8
100 100
R=199:121%
8 2
Example 3.

An amount become 5 times in 20 years at simple
interest. Calculate the rate of interest given.
Solution:
Principal = Rs. x
Total Amount = Rs. 5x. S0

Sl =Rs, 4x
PRT xR x20
N :————14 TR e
ow Sl 100 X 100
R:@:ZO%
0



Example: 4.
An amount of 25000 is deposited in to Citi bank for
2 years. Calculate the interest incurred if rate of
interest is 10% compounded annually.
Solution:
Here P=Rs. 25000
R=10%
R =2vyears

l=P|1+—1| -
C [JrTOOJ P

- 25000[1+19 25000
00

= 30250 - 25000 = Rs. 5250

auaad

Solved Example: 2

Alternative:

Ans. (a)
Here P = Rs. 2000, R = 5%, T = 2 years

T
Ci_s.:[p{ni} -p]_fﬁl
100

2
= 2000><1—Q§><—1~9—5— ~2000
100 100

| 2000x5x2
100

=205-200=Rs. 5

Difference between Cl and Sl for two years

RV 5 \?
Cl“SI = —_— fand — =
(Cl-8,, P( 100) (200)( _100) 5

What is the difference between the simple inter%‘%
on a principal of Rs. 500 being calculated at 5%p.
annum for 3 years and 4% per annum for 4 year,.

1. Rs. 1200 islentout at 5% per annum simple interest (@) Rs. 5 (b) Rs. 10
for 3 years. Find the amount after 3 years. (c) Rs. 20 (d) Rs. 40
(a) Rs. 1380 (b) Rs. 1290 Ans. (a)
(c) Rs. 1470 (d) Rs. 1200 P = Rs. 500, R, = 5%, R, = 4%, ,
Ans. (a) T.=3years, T,=4years 8 W
Here P = Rs. 1200 .
DR PR i)
R=5%,T=3years Difference = —1 1 — 22 _Rs. 5, an
100 100 !
200x5x o (a
gy = PAT _ 1200%5%3 _ &g 180 o | -
100 100 What is the simple interest for five years on asi. ¢
of Rs. 700 if the rate of interest for the first 3yer ~ An

Amount =P + Sl = 1200 + 180 = 1380

2. Rs. 2100 is lent at compound interest of 5% per
annum for 2 years. Find the amount after two years.

(a) Rs. 2300 (b) Rs.2315.25
(c) Rs. 2310 (d) None of these
Ans. (b)

Here P =2100, R = 5%, T = 2 years.

RY :
A=P{1+——] —'2|UO[1+——5—}

120] 100
- 2100x 2% 2] _Rs 2315 25
20" 20

3. Find the difference between the simple and the
compound interest at 5% per annum for 2 years on
a principal of Rs. 2000.

is 8% per annum and for another 2 years is 7%
annum?

(a) 400 (b) 392
(c) 352 (d) 266
Ans. (d)

700x3%x8 700x7x2

- 266
100 100

Find the compound interest on Rs. 1000 at the
of 20% per annum for 18 months when intere
compounded half-yearly.

(a) Rs. 331 (b) Rs. 1331
(c) Rs. 320 (d) None ofthese
Ans. (a)

Here P = Rs. 1000, R = 20%,

T = 18 months or 1;1— years.



und interest when interest is compounded

R/2 2T
1000[1 366]

3
OOO[Hw——} = Rs. 1331

2000 (o) Rs. 2200
s. 1000 (d) Rs. 1100
ars >=7,Cl=Rs. 420, R = 10%, T = 2 years.

R
—| -P
P[1+1OO}

2
ple int p (1+£) -1
g at 59 100
or4ye
?@]

What is the rate of simple interest for the first 4 years
~ifthe sum of Rs. 360 becomes Rs. 540 in 9 years
nd the rate of interest for the last 5 years is 6%7?

o (a) 4% (b) 5%
sonasi -(c) 3% (d) 6%
first 3yet  Ans, (b)
rsis 7%% P =Rs. 360, A =Rs. 540, S| =Rs. 180.

PRT
100

Sl=

180:86O><F%><4+360><6><5

100 100
360xRx 4
72 = M 9
100 R=5%

’Ajay borrows Rs. 1500 from two money-lenders. He
ays interest at the rate of 12% per annum for one
nand atthe rate of 14% per annum for the other.
he total interest he pays for the entire year is Rs. 186.

W much does he borrow at the rate of 12%7
(3) Rs. 1200

(b) Rs. 1300
© Rs.1400 () Rs, 300
ns. (a)
P=1500,R = 12%, R = 14%, T = 1 year

Sl =186

Let Rs. x be amount invested at 12% Rate

_ x><12><1+(1500—x)><14
100 100
21000 2x
100 100

=186

=186, x=1200

10. Two equal sums were borrowed at 8% simple interest

11.

12.

per annum for 2 years and 3 years respectively. The
difference on the interest was Rs. 56. The sum
borrowed were

(@) Rs. 690 (b) Rs. 700
() Rs. 740 (d) Rs. 780
Ans. (b)
PRT, PRT,
100 100
8x3-8x2
P e Bl =
[ 00 } 56, P =700

It the difference between the simple interest and
compound interest on some principal amount at 20%
per annum for 3 years in Rs. 48, then the principle
amount must be

(a) Rs. 550 (b) Rs. 500
(c) Rs.375 (d) Rs. 400
Ans. (c)

Here P =7 R =20%, T = 3 year
Difference Rs. 48
R

- T
48=P| 1+ | _p-
8 f1oo]

PRT
100

100 100

I 3
48 =P (wﬂ) »-1—20”1

On solving P = 375.

Raju lent Rs. 400 to Ajay for 2 years, and Rs. 100 to
Manoj for 4 years and received together from both
Rs. 60 as interest. Find the rate of interest, simple
interest being calculated.
(a) 5% (b) 6%
(c) 8% (d) 9%
Ans. (a)
PRI, , PRT,
100 100
400x2xR 100x4xR

+
100 100
12R =60, R =5%

=60

=60



13. Assumof money doubles itself in 5 years. In how many (a) Rs. 4000, Rs. 2000
yearswillitbecome four fold (if interestis compounded)? (b) Rs. 5000, Rs. 1000
(@) 15 (b) 10 (c) Rs. 3000, Rs. 3000
{c) 20 (dy 12 (d) None of these
Ans. (b) Ans. (a)
Let sum=x Let one part be Rs. x then 19
R T xx2x6 (6000-x)x3x8 '
fhen, 2c= {1 +76'6] 00~ 100
A 12x = 144000 - 24x
= {1 +W@J = D5 ) 36x = 144000
x = 4000
R |
Ay = x[1 + %6:’ 16. A sum of money becomes 7/4 of itself in 6 years,
a certain rate of simple interest. Find the rate:
= 4 = [pus] interest.
= o2 _ oS (a) 12% (b) 125%
T (c) 8% (d) 14%
£ =2 Ans. (b)
T =10 yrs. Let sum be x
14. A sum of money placed at compound interest A _Zr S0, Sl = g
doubles itself in 3 years. In how many years will it 4 4
amount to 8 times itself? T=6vyears, R=?
(@) 9years (b) 8years
(c) 27 years (d) 7 years SIx100  3xx100 _
Ans. (a) R=-—P o= =125%
X xx6
Letsum=x
R ]3 17. Sanjay borrowed Rs. 900 at 4% p.a. and Rs. 11
Then, 2x = r[ TJ at 5% p.a. for the same duration. | le had to p
R Rs. 364 in all as interest. Whatis the time period in year 4
= [1 +m = 213 (i) (a) 5vyears (b) 3years
‘ . () 2vyears (d) 4vyears
o = X[H_FL] Ans. (d)
100 ] PR,T, PR,T
B e o0 00
= B =20 | 2
. [9OO><4T+11OO><5T]:364
N 3= 3 100 100
. T=9yrs. 36T +55T =364
Alternative: T=4years
If certain sum of money becomes ‘m’ times in ‘y’ 18. If a certain sum of money becomes double at s
years. Then it will become (m") timesin ‘n x y' years. interest in 12 years, what would be the rate of int
Hence 2°in 3 x 3 = 9 years. per annum?
15. Divided Rs. 6000 into two parts so that simple
interest on the first part for 2 years at 6% p.a. may @ 83 (b) 10
be equal to the simple interest on the second part () 12 (d) 14



Ans. (a)
xx12xR
X
100
100 1
= ——— = 8—
R 12 3

. A sum of Rs. 600 amounts to Rs. 720 in 4 years at
simple Interest. What will it amount to if the rate of
interest is increased by 2%7

(a) Rs. 648 (b) Rs. 768
(c) Rs. 726 (d) Rs. 792
Ans. (b)
P = Rs. 600, A =Rs. 720
T = 4 years, R=7?
R S1.x100 _ 120x 100 _ 59
PxT 600x 4
at 7% Rate
g1= 800X7x4 _1eq
100

A =600 + 168 = 768

oooo

Simple Interest

B,
-8

| Practice Exercise: |

. Avinash borrowed Rs. 5000 from Sanjay at simple
Interest. After 3years, Sanjay got Rs. 300 more than
what he had given to Avinash. What was the rate of
interest per annum?
(@) 2%
(c) 8%

(b) 5%
(d) 10%

Rs. 800 amounts to Rs. 920 in 3 years at simple
interest. If the interest rate is increased by 3%, it
would amount to how much?

(@) Rs. 992 (b) Rs. 1056

(c) Rs. 1112 (d) Rs. 1182

- The simple interest on a sum of money at 5% is
Rs. 48 for 4 years. The simple interest on the same
sum for 5 years at 4% will be.

(@) Rs. 40 (b) Rs. 48

{c) Rs. 50 (d) Rs. 60

: < A sum of money at simple interest amounts to

Rs. 2240 in 2 years and to Rs. 2600 in 5 years.
What is the principal amount?

10.

(@) Rs. 1520
(c) Rs.2120

(b) Rs. 1880
{(d) None

The simple interest on a certain sum of money at
the rate of 5% p.a. for 8 years in Rs. 840. At what
rate of interest the same amount of interest can be
received on the same sum after 5 years”?

(@) 6% (b) 8%

(c) 9% (d) 10%

A sum of money was lent at simple interest at 11%

1
p.a. for 3-;- years and 45 years respectively. If the

difference in interests for two period was Rs. 412,50,
the sum is: '
(a) Rs. 3250
{c) Rs. 3750

(b) Rs. 3500
(d) Rs. 4250

Prabhat took a certain amount as a loan from a bank
atthe rate of 8% p.a. S.I. and gave the same amount
to Ashish as a loan at the rate of 12% p.a. If at the
end of 12 years, he made a profit of Rs. 320 in the
deal, what was the original amount.

(@) Rs. 2000 (b) Rs. 3000

(¢) Rs. 4000 (d) None of these

Rahul borrowed Rs. 830 from Mr. Lal at 12% p.a.
S.1. for 3 years. He then added some more money
to the borrowed sum and lent it to Shobha for the
same period at 14% p.a. rate of interest. If Rahul
gains Rs. 93.90 in the whole transaction, how much
money did he add from his side?

(a) Rs. 35 (b) Rs. 55

{c) Rs. 80 {(d) Rs. 105

Mr. Roopchand finds that an increase in the rate of
interest from 4Z%to 5%% per annum increases
8

his yearly income by Rs. 25. His investment is:
(@ Rs. 10,000 (b) Rs. 12,000
(c) Rs. 15,000 (d) Rs. 20,000

The rate at which a sum becomes four times of itself
in 15 years at S.1. will be:

1

(@) 15% (b) 175%

(c) 20% (d) 25%



11. The simple interest on a sum of money at the end of get the same amount after 2, 3 and 4 year:
1 o respectively. If the rate of simple interest is 5%
four years ‘S, 5th ofits principal. What 's the rate of then the ratio of amounts invested among, A, B ar:
interest per annum? C will be:
(@) 4% (b) 5% E (@) 10:15:20 (b) 22:23:24
(c) 6% (d) Datainadequate (c) 6:4:3 (d) 2:3:4
12. A sum of money triples itself in 15 years 6 months. :
In how many years would it double itself? DDDD
(a) 6years 3 months
(h) 7 years 9 months Sy
(c) 8years 3 months Solutions
(d)y 9years 6 months Ans. (a)
13. A sum of Rs.10 is lent to be returned in 11 100 % 300
monthly installments of Rs. 1 each, interest being Rate = (W)% =2%.
simple. The rate of interest is: '
@ 9- % (6) 10% Ans. (a)
11 Principal = Rs. 800, S.I. = Rs. 120,
© 11% () 21%% Time = 3 years.
100x120), o
14. The rate of simple interest on a sum of money is 6% Rate = (m) %.= 5%
p.a. for the first 3 years, 8% p.a. for the next 5 years o
and 10% p.a. for the period beyond 8 years. If the New rate = 8%, Principal = Rs. 800
simple mterest accrued by the sum fer a total period TlmeSyears A SL
of 10 years is Rs. 1560, what is the sum? . (8OQX8X3\ Rs.192,
(@) Rs.1500 = (b).Rs.2000 e “L 100 v )
{c) Rs.:3000. - (d) -Datainadequate- ' ﬂ
‘ _ , New amount RS. (800 + 1 92)»-:’ Rs. 992
15. A monthly' installment Of Rs. 180 is reduirverd to be
“paid for repayment of an interest free loan in 40 - ANS, (b);
months. If it'is decided to pay itin 30 moriths, how ' ' 100><48 \ . kR
much will be the monthly instaliment in rupees? Principal = ( l S 240.
() 60 ©(b) 198 LS4 )
(c) 240 (d) 330 ol :RS’(240><5><4):RS 48
16. A sum of Rs. 1550 is-lent out into two parts, one at , 100 VA
8% and another one at 6%. If the total annual income S o '
~is Bs. 106, the money lent at 8% is: Ans. (d) o
(&) Rs. 650 (b) Rs. 720 S for = (2600 2240) Rs 360
(©) Rs.840  (d) Rs.900 360 ).
o S.I. For 2 years = Rs. (—*3— 2} = Rs.240
17. A sum of Rs. 1550 was lent partly at 5% and partly . BT
at8% p.a. simple interest. The total interest received Principal = Rs. (2240~ 40) =Rs ZOOO
- after 3'years wasRs. 300. The ratio-of the money G Ca
lent at 5% 1o that lent at 8%. e Ans.(b) -
() 8:5 (b) 5:8 Sum= {100)(840) Rs 2100.
{c) 31:6 (dy 16:15 5x8 ‘
8. Amgn invests an amount of BS. 15860 in the names  Raterequired = (‘300><840)% g
of his three sons A, Band Cin such a way that they \ 2100%5 ) =




6. Ans. (c)

Letthe sum be Rs. x . Then, Rate = 100><2xx_g_ o = @9 %
x 31 31
9 1 7 1
EXTIX =X e XTI = X
2 100 2 100 400
= 412.50 ' Nowswn:LSi:x&Ram(31)%.
or —2& =412.50
200 ) (100><x 31 )
Time = X ~—— |years
= 11 =41250 x 400
= x=3750 = 7 years 9 months
7. Ans. (d) . ) ) 13. Ans. (d)
Let the original amounts be Rs. x. then, Rs. 10 + S.I.on Rs. 10 for 11 months
¥Xx12x12 xx8x12 = = Rs 11 +S L. onRelfor(1+2+34 44
100 100 =320 ... + 10) months
. Rs. 10 + S.Il. on Rs. 1. for 110 months
= x= 2000 =Rs. 666.67
=Rs. 11 + S.l.onRs. 1 for 55 months
8. Ans. (d) S.l.on Rs. 1 for 55 months = Rs. 1.
(830+x)><14><3~ 83O><12><8v_93 90 Rate :(1(1)02;2)% :21%%.
100 o Y 8
Or 830 x 42 + 42x — 830 x 36 = 9390 14. Ans. (b)
- 42x=9390-4980 ‘ Let the sum be Rs. x. Then
= x:4410~_~1o5‘ IR x><6><3+x><8><5+x><10><2:1560
100 100 100
Money added = Rs. 105. : or  78x = 156000
9. AHS. (a) f or x = 2000
Let the investment be Rs.x, Then, = 15. Ans. (c)
44 1 39 1 , 180 x 40 = x x 30 or x = 240
XXEX?‘@“‘XXE—*XTE)EZZS
16. Ans. (a)
= 2v=20000 = x=10000. Let the money lent at 8% be Rs. . then,
10. Ans. (c) xx8x1 (1550~ x)x6x1_
~Let sum =X, Then, S.o=3x 100 + 100 =106
Ra@::(1993<3x)96:20% OF 2x + 9300 =10600 or x = 650,
xx15
; 17. Ans. (d)
11. Ans. (b) Let the sum at 5% be Rs. x. Then,
Letsum =x, Then, Sl = %,Time =4 years. xxb5x3 +"(1550~x)><8><3 - 300
1 100 100
Rae:@OOxix-")%:5%; or x =800
. 5 xx4
N Money at 5% 800
12. Ans. (b) Money ai 8% (1550 - 800)
Let sum = x,

Then, S.I. = 2x & Time = %years. = 800 16

750 15




18. Ans. (c)
Let the amounts invested be x, v, z respectively.

Then xX2X5 yXx3x5 zx4x5
" 100 100 100

K.

x =10k, y=%9k&z=5k.

20
S0, x 1y z=10k: ~3~k:5k
=30:20:15=6:4:3.

aooo

Compound Interest

a.a.a
A2 a2

I | Practice Exercise: |

1. The difference in compound interest, and simple
interest on a certain amount at 10% per annum at
the end of the third year is Rs. 620. What is the
principal amount?

(a) Rs. 40000 (b) Rs. 12000

(b) 9
(d) 8

(a) 12
{c) 6

In how many years will a sum of Rs. 800 at 10% per
annum compounded semiannually become
Rs. 926.107

1 1
(@) 2‘2“ (b) 15
1 1
© 23 @ 15

To find out the total compound interest on a sum of
money after 5 years, which of the following
informations given in the statements P and Q will
be sufficient?

P : The sum was Rs. 20000.

Q : The total amount of simple interest on the sum
after 5 years was Rs. 4000.

(@) Only P is sufficient

{b) Only Q is sufficient

(c) Either P or Qis sufficient

(d) Both P & Q are needed

The least number of complete years in which a sum
of money put out at 20% compound interest will be

more than doubled is:
(8)--3

(c)-Rs.-10000 {d) Rs. 20000

2
2. Ifthe compound interest on a certain sum at 165 Y%

for 3 years is Rs. 1270, the simple interest on the
same sum at the same rale and for the same period

is:
(a) Rs. 1200 (b) Rs. 1165
{c) Rs. 1080 (d) Rs. 1220

3. What is principal amount which earns Rs. 132 as
compound interest for the second year at 10% per

annum?
(a) Rs. 1000 (b) Rs. 1200
(c) Rs. 1320 (d) Rs. 1188

4. A sum of money amounts to Rs. 4624 in 2 years
and to Rs. 4913 in 3 years at compound interest.

The sum is:
(a) Rs. 4096 (b) Rs. 4260
(c) Rs. 4335 (d) Rs. 4360

5. Asum of money at compound interest amounts to
thrice itself in 3years. In how many years will it be 9
times itself?

10.

1.

(b)-4
=/ M/
(c) 5 (d) 6
: 1 e
A tree increases annually by F th of its height. By

how much will it increase after 2 years, if it stands
today 64 cm high?

(@ 72cm (b) 74cm
{c) 75¢cm (d) 81cm
The compound interest on a sum for 2 years is

Rs. 832 and the simple interest on the same sum
for the same period is Rs. 800. The difference
between the compound interest and the simple
interest for 3 years will be :

(a) Rs. 48 (b) Rs. 66.56
(c) Rs.98.56 (d) None of these
A sum of Rs. 1100 was taken as a loan. This is to

be repaid in two equal installments. If the rate of
interest be 20% compounded annually, then the
value of each instaliment is
(a) Rs. 842 (b) Rs.
{c

79
) Rs. 720 (d) Rs. 70

(@)



12. What annual payment will discharge a debt of
Rs. 7620 due in 3 years at 16-%% per annum
3

compound interest?

(a) Rs. 2540 (b) Rs. 3430
(c) Rs. 3260 (d) Rs.3380
oo
Solutions
1. Ans. (d)

Let the sum be Rs. x. Then,

3
c.:.zx(nﬂ] .

100
_(1331_{)_331x
{1000 ) 1000°
xx10x3 3x
Sl= "0 "1
331x  3x 31x
do ] Sl - — = .
(Cl)=(S1) (1000 100) 1000
3x
=620
1000
or x=20000.

Hence, the principal amount is Rs. 20000.
Alternative:

R \? R Y
(Cl-8I),, = SP(@) +P(ﬁ)

2. Ans. (¢)

Let the sum be Rs. x. Then,

3
50
L= 1+ - -
C [xx( +3X‘TOO]} X

B 343x_x‘ ~127)&'
\21e ) 216"
127x
216
_1270x 216

or x 127
Thus, the sum is Rs. 2160.

Sl = Rs.(zmox%xsxﬂ_)

= 1270

=2160.

100
= Rs. 1080.

3.

6.

Ans. (b)
Let the principal at the end of first year be Rs. x.

Then, xil}%Xj— =132  or x=1320.

Now, let the original principal be Rs. P,
Then, amount after 1 year
N Px10x1 _ e

100 10

J—1E—=1320
10

or P= 13_2%519 = Rs. 1200.

Ans. (a)
Interest on Rs. 4624 for 1 year
= Rs. (6083.50 ~ 5290) = Rs. 793.50

100 x798.50
4624 x 1

25
4x100

or x><1—7—><1zz4624
16 16

Rate:( ]%:61%
4

2
Now, x(1+ ) = 4624

x=[4624x1§x£J=RS. 4096,

17
Ans. (c)

R Y’ RY .
P(1+ﬁ6) ——3P?~>(1+m) =3 (l)

R Y RY
LetP{ 14— =9P — 1 =0.
e [4—100) 9 :>(1+1 O)

RY' .
1| =
(+100) 3

374 \B
[ -2
100) | “\ T700) lusing (M}

Hence, n = 6 years.

Ans. (b)
Rate = 5% per half year.
Lettime = 2n half years = n years.

52n
Then, 800 1+ —-| =926.
en O(+1OO) 926.10

(g)g” 92610 9261 *(5)3
20) ~ 800 8000 \20

2n=3 or n:::; years.



S.1. for 1 year = Rs. 400.
Sl. onRs. 100 for 1year =Rs.32.

100x 32
400x1

Ratez( )%=8%.

Hence, diff. in C.l..and ' S.I. for 3 year. .

=S.]. onRs. 832

7. Ans. (d) 8 ' ‘
Clearly, both P and Q together are needed = RS.[832>< Td-éx 1}.—.— Rs. 66‘56_
and Q) rate can be calculated as

Total difference = Rs. (32 + 66.56)
Rate = (M) = 4% - Rs. 98.56
5% 20000
11. Ans. (c)
Now, C.1. can be calculated. Let the value of each installment be Rs. x.
8. Ans. (b) Then,
. . (PW. of Rs. x due 1 year hence) + (PW. of Rs. x due
P= (14__29) >2P or (@.) ) 2 years hence) = Rs. 1100.
100 - o
X X ’
= —=1100
20 i 20
6 _6_6_86 T (4,20
Now | =X =x=x=[>2 100 100
5 5
50.n =4 years or 2% 425X _ 4400, 55x =36 %1100
6 36 -
9. Ans. (d)
x :(EE_S?;;_OO):RS, 720.
Increase % = (%MOO)% = 12—;%.
‘ 12. Ans. (b)
Height after 2 years Let each installment be Rs. x. Then,
25 V| f |
:[64><(1+ J Jcm X . X -
2x100) | (1+ 25 ) PR
3x100 (1+3X1OO)‘-_
= (M i g\f‘m =8lem: :
\" 8 8) _ .
10. Ans. (c) B , +——-—~—: PG =v776>20:
. . — 1
Diff. in C.I. & S.1. for 2 years = Rs. 32. ( + 35100

6x 36x 216x

—+ e e
7 49 343

294x + 252x + 216x = 7620 x 343

or = 7620,

7620 x 343
or X =
762

Amount of each installrﬁent = Ré;8430. :

='3430.




